Run 4434 quartetwise, Asyms0 (Raw): All Run 4434 quartetwise, Asyms0 (Raw): Beam OFF
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Run 4434 quartetwise, Diffs0: All Run 4434 quartetwise, Diffs0: Beam OFF
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Run 4434 quartetwise, NegHelAccO/NSamplesQ: All
_ quartetwize_negHQ
14000 |— Entries 164342
— Mean 8.237
B Std Dev 3.668
12000 —
10000 —
8000 —
6000 |—
4000 — | |
2000 —
0 [ J_ el L1 1
0 2 4 6 B 12
MNegHelAccD/NegHelNSampleso
Run 4434 quartetwise, NegHelAccO/NSamples0: Beam ON, Laser ON
quanstwise baami las! nagHD
= Entries 90365
4500 — Mean 10.75
— Std Dev 0.3733
4000 —
3500 —
3000 —
2500 —
2000 —
1500 —
1000 —
500 —
.D'_|'||||J_|I.L A N I N I I O B A | I I A A
B.5 9 9.5 10 10.5 11 11.5 12 12.5 13

MNegHelAccl/NegHelNSamplesd

1200

1000

800

600

400

200

1800

1600

1400

1200

1000

800

600

400

200

Run 4434 quartetwise, NegHelAcc0/NSamples0: Beam OFF
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Run 4434 quartetwise, NegHslAccl/NSamples0: Beam ON, Laser OFF
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Run 4434 quartetwise, PosHelAccO/NSamplesC: All
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Run 4434 quartetwise, PosHelAccO/NSamples0: Beam ON, Laser ON
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Run 4434 quartetwise, PosHelAccO/NSamples0: Beam OFF
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Run 4434 quartetwise, PosHelAccO/NSamplest: Beam ON, Laser OFF
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Run 4434 quartetwise, Sums0: All
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Run 4434 quartetwise, Sums0: Beam ON, Laser ON
quamstwisa baami las® summil
— Entries 90365
— Mean 21.6
4000 — Std Dev 0.6359
3500 —
3000 £
2500 —
2000 —
1500 —
1000 —
500
'Dz"l"" TR N T T T N TN T N | 1 T
18 19 20 21 22 23 24

PosHelAccO/PosHelNSamples? + NegHelAccl/NegHelNSamplesO

1200

1000

800

600

400

200

1800

1600

1400

1200

1000

800

600

400

200

Run 4434 quartetwise, Sums0: Beam OFF
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